Runner on 15t base. A single to LEFT field

CUT-OFF to 3" Base
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The Shortstop goes out as the cut-off man for the left fielder
The 2" Baseman moves to a position that is to the pitcher’s side of 2 AT ** The Shortstop will be the cut-off to 3" base

base, but close to the base to make a play at 2". This is to cause the on balls hit to LEFT and CENTRE field
runner to take a wider turn around 2" base.

The 3@ Baseman covers 3™ base, lines up and directs the Shortstop.
The LF should make a throw to the cut-off man (Shortstop)

unless there is a play at 3 base.

The 1%t Baseman takes his “normal” position to try to make the hitter
take a wider turn around 15 base.

The Pitcher backs up 3" base.



